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2. Create a scatter plot, find the best regression model and answer the questions below.

Population Demographics The data set shows the number of Americans living in
multigenerational households.
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3. Create a scatter plot, find the best regression model and answer the questions below.

Cycling The data set shows the inseam length for different frame sizes for road

bicycles.
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Jarrell has an inseam of 84 cm, but the table does not give a frame size for him. He
graphs the model on a graphing calculator and finds that a y-value of 84 is closest
to an x-value of 56. He decides he needs a 56 em frame. Do you think this is a
reasonable conclusion. Explain.
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4. Create a scatter plot, find the best regression model and answer the questions below.

Animal Migration The data set shows the number of bald eagles best re 4 redsien medel - &'XP‘: nentia l
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